Grade 11 Chemistry Exam Review


 

1. Convert 0.0047 to scientific notation.

a) 4.7x 10-3     b) 4.7 x 103     c) 47 x 104     d) 47 x 10-4
 

2. Which of the following equals (1.40 x 106)/(2.70 x 10-3)?

a) 3.78 x 103       b) 5.19 x 108      c) 3.78 x 109      d) 5.19 x 102
 

3. The number of significant digits in 0.002 340 m is

a) four.      b) five.      c) three.      d) six.

 

4. Which of the following numbers has five significant digits?

a) 0.092 03 x 10-2      b) 1.079 73      c) 0.009 203 0       d) 0.7973

 

5. Which of the following measurements contains the most significant digits?

a) 0.0014 g      b) 14.75 kg      c) 187ºC      d) 6.00 x 102 m

 

6. What is the average of the following temperatures, 14.0ºC, 9.63ºC, 11ºC, and 9ºC?

a) 10.9ºC      b) 11ºC      c) 10ºC      d) 10.91ºC

 

7. Which of the following is not correctly rounded off to two significant digits?

a) 1.45 g becomes 1.5 g      b) 3.58 g becomes 3.6 g

c) 14.3 g becomes 14 g      d) 1.35 g becomes 1.4 g

 

8. How many litres equal 5.36 mL?

a) 5360 L      b) 536 L      c) 0.536 L      d) 0.005 36 L

 

9. If a liquid has a density of 2.71 g/mL, what volume of the liquid has a mass of 45.0 g?

a) 0.0602 mL      b) 122 mL      c) 16.6 mL      d) 60.2 mL

 

10. How many seconds are there in seven days?

a) 6.05 x 105 s      b) 3.02 x 105 s      c) 2.52 x 104 s      d) 1.01 x 104 s

 

11. The total mass before a chemical reaction is equal to the total mass after a chemical reaction. Which law does this illustrate?

a) Conservation of Mass      b) Constant Composition

c) Multiple Proportions       d) Conservation of Energy

 

12. Which of the following is true?

a) a liquid has a definite shape                b) a solid can be compressed easily

c) the particles of a gas are far apart      d) a gas has a definite volume

 

13. Which of the following is a physical property?

a) carbon reacts with oxygen to produce carbon dioxide

b) the density of platinum is 2.14 x 104 kg/m3
c) steel wool rusts

d) excess stomach acid is neutralized by antacids

 

14. Which of the following is a chemical property of water?

a) it has a boiling point of 100ºC

b) it is soluble in alcohol

c) it is a colourless liquid

d) it reacts with potassium to produce hydrogen gas

 

15. Which of the following is a quantitative property?

a) oxygen is an odourless gas

b) a water solution of copper(II) sulfate is blue

c) 203.9 g of sugar can be dissolved in 100 g of water at 20ºC

d) mercury is a liquid at room temperature

 

16. Which of the following is a physical change?

a) the melting of sodium chloride       b) the burning of rubber

c) the rusting of an automobile          d) the rotting of an apple

 17. Which of the following is a chemical change?

a) the stretching of rubber      b) the burning of a match.

c) the crushing of a grape       d) the freezing of a liquid

 

18. Which one of the following is a chemical reaction?

a) melting      b) boiling      c) filtering      d) burning

 

19. Which of the following is a pure substance?

a) saltwater      b) soil      c) ginger ale      d) oxygen

 

20. Which of the following is an element?

a) air      b) water      c) sulfur dioxide      d) hydrogen

 

21. Which of the following is a compound?

a) zinc      b) aluminum      c) carbon disulfide      d) sulfur

 

22. Which of the following is a heterogeneous mixture?

a) black coffee         b) mouthwash

c) a tossed salad      d) nail polish remover

 

23. Which of the following statements is not a part of Dalton's atomic theory?

a) Atoms of the same element may differ in mass.

b) All atoms of one element differ from the atoms of every other element.

c) Chemical change is the union or separation of atoms.

d) Atoms combine in small whole number ratios.

 

24. J. J. Thomson's experiments with discharge tubes demonstrated that

a) alpha particles are the nuclei of helium atoms.

b) the mass of an atom is concentrated in its nucleus.

c) cathode rays are streams of negatively charged ions.

d) the charge‑to‑mass (e/m) ratio is the same for all cathode ray particles

 

25. Rutherford's observation that a gold foil scatters some alpha particle through angles greater than 90º enabled him to conclude that

a) all atoms are electrically neutral.

b) the nucleus of the atom contains the positive charge.

c) an electron has a very small mass.

d) electrons are a part of all matter.

 

26. The nucleus of an atom usually consists of

a) electrons and protons.         b) protons and neutrons.

c) neutrons and electrons.       d) isotopes.

 

27. Surrounding the nuclei of atoms are found the

a) alpha particles.     b) protons.     c) neutrons.     d) electrons.

 

28. Isotopes of the same element always have the same

a) number of neutrons.      b) number of protons.

c) mass number.                d) atomic mass.

 

29. A nucleus of cobalt‑56 contains

a) 29 protons and 27 neutrons.        b) 27 protons and 29 neutrons

c) 29 protons and 27 electrons.      d) 27 protons and 29 electron

 

30. Element X consists of 30.00% of an isotope with mass 24.02 u and 70.00% of an isotope with mass 26.10 u. The average atomic mass of X is

a) 24.64 u.        b) 25.06 u.      c) 25.48 u.      d) 50.12 u

 

31. The spectrum of atomic hydrogen is best described as

a) a continuous spectrum.

b) a series of bright lines.

c) a single series of lines with constant line spacings.

d) several series of continuous spectrum.

 

32. Niels Bohr theorized that

a) energy is released when an electron jumps to a lower energy level.

b) electrons travel in circular paths called orbitals.

c) the energy of an electron may have any arbitrary value.

d) the spectrum produced by hydrogen atoms should be a continuous spectrum.

 

33. The number of electrons in the second energy level of a nitrogen atom is

a) 2.      b) 5.      c) 7.      d) 14.

 

34. Which of the following properties is not characteristic of metals?

a) They are malleable.      b) They are good conductors of heat.

c) They are ductile.          d) They are dull in appearance.

 

35. Which of the following elements is NOT a nonmetal?

a) fluorine        b) oxygen       c) nitrogen       d) antimony

 

36. Which is the most reactive of all the elements?

a) fluorine       b) sodium      c) oxygen      d) hydrogen

 

37. In Mendeleev's periodic table, the horizontal rows are called

a) groups.      b) periods.      c) families.            d) columns.

 

38. Which group of the periodic table contains the least reactive elements?

a) alkali metals        b) halogens            c) actinides      d) noble gases

 

39. Which of the following is the most metallic element?

a) oxygen      b) iron      c) potassium            d) neon

 

40. Which of the following is the most nonmetallic element?

a) silicon      b) fluorine      c) nitrogen             d) helium

 

41. Which of the following elements have atoms with four electrons in their outer energy levels?

a) carbon      b) oxygen      c) neon       d) boron

 

42. Which of the following elements have atoms that would not have five, electrons in their outer energy levels?

a) phosphorus        b) selenium            c) arsenic      d) antimony

 

43. The kernel of an atom represents

a) the nucleus and the valence electrons.

b) the nucleus and the inner electrons.

c) the nucleus.

d) the valence electrons.

 

44. How many inner electrons does any element of the third period have?

a) two      b) six      c) eight       d) ten

 

45. An element that has an electron configuration of 1s2 2s2 2p6 3s2 3p5 is one of the

a) alkali metals.       b) transition metals.

c) halogens.            d) lanthanides.

 

46. An element that has an electron configuration of 1s2 2s2 2p6 3s2 3p64s2 3d5 is one of the

a) alkali metals.        b) transition metals.

c) halogens.             d) lanthanides.

 

47. Which of the following elements has the largest atomic radius?

a) beryllium            b) carbon      c) nitrogen      d) oxygen

 

48. Which of the following elements has the smallest atomic radius?

a) sulfur      b) selenium      c) oxygen      d) tellurium

 

49. Which of the following elements has the smallest first ionization energy?

a) strontium      b) calcium      c) barium      d) magnesium

 

50. Which of the following elements has the largest first ionization energy?

a) bromine      b) potassium      c) arsenic      d) calcium

 

51. Which of the following elements has the highest electron affinity?

a) chlorine      b) silicon      c) sodium      d) phosphorus

 

52. Chemical bonds are the result of

a) electron‑electron repulsion.

b) proton‑proton attractions.

c) attraction of an atom's nucleus for its valence electrons.

d) simultaneous attractions of shared electrons for two nuclei.

 

53. Ionic bonds are usually formed between two elements with the following combination of properties:

a) low ionization energy and low electron affinity.

b) low ionization energy and high electron affinity.

c) high ionization energy and low electron affinity.

d) high ionization energy and high electron affinity.

 

54. An ionic bond is usually formed between

a) two nonmetals.                   b) two metals.

c) a metal and a nonmetal      d) a metalloid and a nonmetal.

 

55. What is the correct formula for the ionic compound formed when magnesium reacts with fluorine?

a) MgF        b) Mg2F      c) MgF2      d) Mg2F3
 

56. What is the formula of the ionic compound formed when element X (three valence electrons) reacts with element Y (six valence electrons)?

a) X2Y3      b) XY         c) X2Y      d) X3Y2
 

57. Which of the following is a property of ionic compounds?

a) Their solids conduct electricity.

b) They are usually gases or liquids at room temperature.

c) They have high melting points.

d) They are soft and waxy.

 

58. Which of the following is isoelectronic with a noble gas?

a) F2-      b) S-      c) Al 2+      d) Ca 2+
 

59. Which of the following has nonpolar covalent bonding?

a) N2       b) HBr         c) MgF2      d) CCl4
 

60. Which of the following is a property of covalent compounds?

a) They have low boiling points.

b) They are hard and brittle.

c) Their molten state conducts electricity.

d) They have high melting points.

 

61. Which of the following has polar covalent bonding?

a) F2      b) HBr      c) KCl        d) O2
 

62. Element X has an electronegativity of 3.0 and element Y. has an electronegativity of 1.0. The most probable type of bond between X and Y is

a) pure covalent.      b) polar covalent.      c) ionic.      d) unpredictable.

 

63. Which of the following contains an atom that is isoelectronic with argon?

a) A1Br3      b) HF      MgI2      d) H2S

 

64. The Lewis structure for H2Te is
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65. Which of the following is a Lewis structure for CBr4?
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66. What is the predicted shape of PH3?

a) tetrahedral                      b) trigonal planar

c) trigonal pyramidal           d) linear

 

67. What is the charge of the underlined ion in Al2O3?

a) +3            b) ‑3      c) +2      d) –2

 

68. What is the charge of the underlined ion in Ca3N2?

a) ‑3            b) +3      c) ‑2      d) +2

 

69. What is the charge of the underlined ion in Na2S2O6?

a) ‑1            b) +1      c) ‑2      d) +2

 

70. What is the charge of the underlined ion in Zn3TeO6?

a) ‑1            b) ‑3      c) ‑6      d) +3

 

71. The formula of the compound formed from Barium and Chlorine is

a) BaCl.            b) Ba2Cl.      c) ClBa2.       d) BaCl2.

 

72. The formula of the compound formed from Gallium and Sulphur is

a) GaS3.            b) Ga2S3.      c) Ga3S2.       d) Ga2S.

 

73. The formula of the compound formed from the aluminium ion and ethanoate ion is

a) AlC2H3O2.      b) Al (C2H3O2)3.      c) Al3C2H3O2.      d) Al(C2H3O2)2.

 

74. The formula of the compound strontium phosphate is

a) Sr(PO4)3.            b) Sr(PO4)2.      0 Sr2(PO4)3.      d) Sr3(PO4)2.

 

75. What is the formula for tin(IV) oxide?

a) SnO4            b) SnO2      c) Sn4O      d) SnO

 

76. What is the formula for copper(II) acetate?

a) Cu(C2H3O2)2      b) CuC2H3O2      c) Cu2C2H3O2      d) Cu2(C2H3O2)2
 

77. The formula for phosphorus pentachloride is

a) PC13.      b) P5Cl5.      c) P5Cl.      d) PCl5.

 

78. What is the formula for dinitrogen monoxide?

a) N2O       b) NO2            c) N2O2       d) N2O4
 

79. What is the name of MgS?

a) magnesium(I) sulfide            b) magnesium sulfate

c) magnesium sulfite                d) magnesium sulfide

 

80. The name of the binary compound CaC2 is

a) carbon calcite.     b) calcium carbide.     c) calcous carbide.     d) calcium carbonate

 

81. The name of Na3PO4 is

a) sodium phosphide.                  b) sodium phosphite.

c) sodium phosphate.                  d) sodium perphosphate.

 

82. The name of Zn(HCO3)2 is

a) zinc hydrocarbonate.             b) zinc(II) carbonate.

c) zinc carbonate.                     d) zinc hydrogen carbonate.

 

83. What is the name of Cu(NO3)2?

a) copper dinitrite                 b) copper(II) dinitrate

c) copper(II) nitrate             d) copper(I) nitrate

 

84. What is the name of Hg2SO4?

a) mercury(II) sulfate            b) mercury(I) sulfate

c) mercury(I) sulfite              d) mercury(II) sulfide

 

85. Which of the following is named antimony trichloride?

a) SbCl3            b) AnCl3      c) SeCl3      d) An3Cl

 

86. What is the name of IF5?

a) monoiodine pentafluoride          b) iodide pentafluoride

c) iodine pentafluoride                  d) monoiodide pentafluoride

 

87. What is the name of HCl(aq)?

a) chlorous acid           b) chloric acid

c) hydrochloric acid        d) hydrochlorous acid

 

88. The normal boiling points of ether, water, and mercury are 34ºC, 100ºC, and 357ºC respectively. Which of these liquids has the weakest intermolecular forces?

a)      ether      b) water      c) mercury      d) impossible to identify

 

89. Which of the following substances has the highest boiling point?

a) H2O      b) H2S      c) H2Se      d) H2Te

 

90. The conversion of a liquid to a solid is called

a) sublimation.      b) condensation.      c) evaporation.       d) freezing.

 

91. The conversion of a liquid to a vapour is called

a) sublimation.     b) condensation.      c) evaporation.      d) freezing.

 

92. The conversion of a vapour to a liquid is called

a) sublimation.       b) condensation.      c) evaporation.      d) freezing.

 

93. Wet clothing hung outdoors at -10ºC freezes solid at first, but the becomes soft and dry. This is an example of

a) sublimation.         b) condensation.           c) evaporation.            d) freezing.

 

94. Some metals react with water to produce

a) hydrogen.            b) oxygen.        c) metallic oxides.            d) acids.

 

95. The reaction 2Na(s) + 2H2O(l) → 2NaOH(aq) + H2(g) is an example of a

a) combination reaction.

b) decomposition reaction.

c) single displacement reaction.
d) double displacement reaction.

 

96. The reaction Ba(OH)2(aq) + 2HNO3(aq) → Ba(NO3)2(aq) + 2H2O(l) is an example of a

a) combination reaction.

b) decomposition reaction.

c) single displacement reaction.
d) double displacement reaction.

 

97. The reaction Li2O(s) + CO2(g) → Li2CO3(s)) is classified as a

a) combination reaction.

b) decomposition reaction.

c) single displacement reaction.
d) double displacement reaction.

 

98. The reaction TiI4(g) → Ti(s) + 2I2(g) is classified as a

a) combination reaction.

b) decomposition reaction.

c) single displacement reaction.
d) double displacement reaction.

 

99. The reaction 2AgNO3(aq) + CaCl2(aq) → 2AgCl(s) + Ca(NO3)2(aq) is an example of a

a) double displacement reaction.         b) combination reaction.

c) decomposition reaction.                  d) single displacement reaction.

 

100. The reaction of solutions of ammonium phosphate and barium nitrate gives a precipitate of barium phosphate. The equation that best represents this statement is

a) 2(NH4)3PO4(s) + 3Ba(NO3)2(aq) → Ba3(PO4)2(aq) + 6NH4NO3(s).

b) 2(NH4)3PO4(aq) + 3Ba(NO3)2(aq) → Ba3(PO4)2(s) + 6NH4NO3(aq).

c) 2(NH4)3PO4(aq) + 3Ba(NO3)2(s) → Ba3(PO4)2(s) + 6NH4NO3(aq).

d) 2(NH4)3PO4(aq) + 3Ba(NO3)2(aq) → Ba3(PO4)2(aq) + 6NH4NO3(aq).

 

101. Of the following equations, the only one that is balanced is

a) H2 + O2 → H2O.               b) Cu + Cl2 → CuCl2.

c) Ag + Cl2 → AgCl.             d) Na + H2O→ NaOH + H2.

 

102. In the balanced equation for the combustion of ethane (C2H6),

      2C2H6 + 7O2      → ____CO2 + 6H2O    the coefficient of CO2 is

a) 1      b) 2      c) 4.      d) 6.

 

103. In the incomplete equation 2NaHCO3 → 2CO2 + H2O + _____ the missing product has the formula:

a) Na2O.            b) Na2O2.      c) NaO2.      d) NaO.

 

104. In the incomplete equation K2SO4 + 2AgC1O3 → 2KC1O3 + ______ missing product is:

a) Ag2SO3.            b) AgClO4.      c) AgSO4.      d) Ag2SO4.

 

105. Lithium reacts with water to form hydrogen gas. In the balanced equation for this reaction, the other product with its coefficient is:

      a) Li2O.            b) LiOH.      c) 2LiOH.      d) 2Li2O.

 

106. The number of carbon atoms in 3.00 mol of glucose (C6H12O6) is

a) 1.08 x 1023            b) 6.02 x 1023      c) 18.0 x 1023      d) 108 x 1023
 

107. The mass of 1.50 mol of calcium sulphate (CaSO4) is

a) 40.1 g            b) 0.0110 g      c) 204 g      d) 136 g

 

108. The number of moles of CaSO4 in 260 g of CaSO4 is

a) 1.91      b) 136      c) 0.191      d) 35 400

 

109. The number of sucrose molecules in 4.50g of C12H22O11 is

a) 2.18 x 10-26 b) 342      c) 1.54 x 1021            d) 7.92 x 1021
 

110. The mass of 1.50 x 1023 molecules of C12H22O11 is

a) 85.2g            b) 5.13 x1025g      c) 342g      d) 1370g

 

111. The number of carbon monoxide molecules contained in 14.0g of carbon monoxide is

a) 6.02 x1023            b) 3.01 x 1023      c) 3.01 X 1022      d) 6.02 x1022
 

112. The number of atoms contained in 2.80 g of carbon monoxide is

a) 6.02 x1023            b) 6.02 x1022        c) 1.20 x 1023         d) 1.20 x1024
 

113. The number of moles of H2SO4 present in 392 g of H2SO4 is

a) 98.1            b) 4.00          c) 0.250          d) 38500

 

114. The number of moles of oxygen atoms present in 392 g of H2SO4 is

a) 4      b) 8      c) 12      d) 16

 

115. In the reaction CuS + H2 → Cu + H2S, the mass of Cu that can be obtained from 9.56 g of CuS is

a) 6.35 g      b) 63.5 g      c) 0.100 g      d) 9.56 g

 

116. In the reaction CuS + H2 → Cu + H2S, the mass of H2 required to convert 9.56 g of CuS completely to products is

a) 2.00 g       b) 0.10 g        c) 0.20 g        d) 6.35 g

 

117. What is the density of N2 gas at STP?

a) 1.25 g/L      b) 0.63 g/L      c) 1.09 g/L      d) 1.35 g/L

 

118. If the density of a gas is 1.96 g/L at STP, what is the molar mass of the gas?

a) 12.0g                  b) 32.1g      c) 43.9g       d) 28.0g

 

119. If 1.74 g of a volatile liquid is vaporized and occupies 224 mL at STP what is the molar mass of the compound?

a) 200g                  b) 186g               c) 224g              d)174g

 

120. If 2.38 g of a volatile liquid is vaporized and occupies 0.448 L at STP what is the molar mass of the compound?

a) 238 g                  b) 119 g                c) 448 g         d) 60g

 

121. What volume of ammonia can be produced from 18 L of hydrogen, if all gases are at the same temperature and pressure? The balanced equation for the reaction is N2(g) + 3H2(g) → 2NH3(g)

a) 6 L              b) 18 L                c) 12 L                  d) 9

 

122. What volume of carbon dioxide at STP can be obtained from the combustion of 0.50 g of carbon?

a) 0.88 L      b) 22.4 L      c) 1.00 L       d) 0.93L

 

123. How many grams of carbon would have to be burned to produce 560 mL of carbon dioxide collected at STP?

a) 0.30 g      b) 0.60 g      c) 0.15g      d) 0.45g

 

124. Rutherford's lead block experiment showed that

a) radium emits alpha, beta, and gamma rays.

b) beta particles are high energy radiation similar to X-rays.

c) gamma rays are high energy electrons.

d) the nucleus of an atom contains most of the mass of the atom.

 

